
"幽功

s-pdv.de#tfdV=fdT+EdVBothermaldewasetdTzofoS=ffdV=RVF지자 咸一一 RM2
= 5.76 K

(b) rewnbleadrabtcsqods.fi야0
(c)

dlkoi.dk#dTiostldT.a嶋二 G씨判北枏
邢幽二 -8.6451k

2.
P.to atm.IE 300K

VE 成下二 246L
냐장 -7.38L .PE※ 3.33dm

t.hr 2.78KJ

ft ,
We

, AE0 , 새 .SE RM놓지 . 13TH 8=2.78

AK0

야냐7.38L .石毗 .

먀强二 444dm
OH-0

Wb 20
, ㅿ닝= GOT INT 1247.1 J

△£15-877k

△Her DustON ) 해HWP = G이고 2078.5J

duie-PdV.de ftp.adf = 3.59J1KG5세마1247.1J

TETb.ve = 3냐22.14L .PE輅二 1.48dm

WEqrfpdr.RU咸二 3,61 KJ

ㅿ냗O ,
매 C To )

E Rh 貳二

9.BJNPEP.in/.48atm.T=300KeVd=l6.6LW=fPW=PaF-O.831kJ
G성t해E -2078.5JHad

△냫 GOT -1247.1 J
ㅿ햐 Cph飛二 -5.987k



3. (a)

唜二 2마리
. 哥二2배

→ Carl : cntndp.int

fc2.gg = 2 . facto ,

미2.2) = 4개

i

i
. (2.21에서 Extreme value 가덤 .

" 씌

(b)

ytdz.it사지루4
= 222-2개와#-邨娜

. 아하 ft 일때 최소
,
이 때 Z샟

(C) z.fm .p

g예대뻐

OfNg
→ 恭九 . 昨入 ,

A2마리진사리

'
땡 , 때는 1이므로 가 y

일때 최소
,

이때 다채



4. (a) 05A대KMF = 12ha2
A B A B

△ Th2
v, 1m이 V, 1m이 2박1m이 2KM이

= 212M2

(b)
g 2R1m2

dB Rh2

05-3Mm2

(c) (a) 경우

→ 05-0 (Nathan charged)

나) 경우

A
' 2KME차 - 2RdA

Y2m이 V, lmolspiRh.IE - Rht

d 으야 NhT
M3m이


